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SANSKRIT

[HONOURS]
Paper : VIII

Full Marks : 100 Time : 4 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any five of the following: I1x5=5

fAsfie @ Hofe 2eiw Tew me ¢

a) Give the definition of aTfde.
e o W |

b) What is meant by femrg?
ez Fo10e & R

¢)  Give an example of T T,
Sl 9 TriRgel wie |

d) Give an example of 3Ufid SHURT T8, with
E2ISEICER

AAIFTAZ B ATN® FHGIT AN 936
TriRFd wie |

[Turn over]

)

h)

What is the meaning of ‘U9’ in the sutra
g g9a:’?

‘g T’ g TS A Y 2
What is the meaning of “ThI’?
‘GFIE a7 o 5

Give an example of Dissimilation.

aiee 3 Srizgd wie |

Name any two renowned western linguists.

BT 2RI 12 SIAifeiaE w74 |

Answer any ten questions of the following:

2x10=20

Tva @@ o dmw Tea me ¢

a)

b)

33(A)

Give an example of fifth case-ending in

accusative and locative cases.

I 8 iR swes Refen T we |
Correct or justify: TAMIEIIU T .

THFEEGEY YEty — A ww Al N
3|

Explain the word ‘™I’ citing the relevant

sutra .

3q STAL7FF TR *E I |
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d)

g)

h)

)

33(A)

Explain the term: ‘99:" in ‘¥ 3",

LR M (GIN AR T SIS

Explain the formation of the compound gﬁflm
with reference to relevant sutras.

RS g gl *w b slonafer i
4|

Write the siitra of ‘STTH-HHIIHTAE:" and

give an example on it.

T SR AR @6 31 932 9F0
T e |

Account for the case-ending in the

underlined word:

R @afre Jme Fs-Refe [dT 99 ¢
AT hivel fgq|

Explain the term “THMIUHOL’ in  deIeN:
FHIRERTT: HHER:.

‘TEqET:  FHTATTYHIN: HHYRI:’ 3(F
GHHTRER: Ao 1 4 |

Give an example of Assimilation and

Dissimilation in Sanskrit.
A Ao ¢ Aieaq-93 Twiggel n1s |

Name any two of Indian linguists.

V2T OROR SRR T @12 |

[3] [Turn over]

k) What is meant by Anaptyxis?
ST E0e T @RIT?

1) Give two examples of Grimm's law.
N2 ®ieaz 1o Srizad wie |
3. Answer any five of the following questions:
6x5=30

N @ ol dres T wie ¢

a) Account for the case-ending in any three of

the following underlined words: 2x3=6
A @@ TSN @difre dvm IR
frefe it 77 ¢

i) I gg: R wefd: |
ii) oTE Bl TP Tesfdl
iii) T ygeh|
iv) Hicte sefrg T |
V) SRR JER e
Or / &3]
Write short note on :
ENEa AT NG
Jqugfavie Or F&gdl
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b)

d)

33(A)

Explain the following sutra : 6
5= @ GG 9

TURAH HOH OR  IWINTHT ST |
Explain any one : 6

- @F6 TG 79 2

) e fEH) v S g

ii) oty aegvt g - g8 ...

State the implication of any one of the

following: 6
AT @I @B Sl @ 3

i) la o) dfed W

ii) TFURN AGHIIEIH)

Explain the formation of the compound with

relevant sutras (any two): 3x2=6
Ty qTE slonafe Ko 71 (@@
) ¢
ST, T, e, FE:|

Or / 9441

Write a clear note on SATERAGH GEHTE: |
6
JfogaredifE ANEE 8oi7 el @74 |

[5] [thﬁ over]
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g)

h)

Explain Verner's phonetic law. 6
ORANAR R/t ARy I

Write a short note on the morphological

features of old-Indo-Aryan language. 6

At SFey e wvefes @R
@ofg 7w B @Y

Write short notes on Epenthesis and

Cerebralisation. 6

iR ¢ JEReIEa Soia Bl @R

Answer any three of the following questions:

15%x3=45

Troa @i foalt areg Sex e ¢

a)

b)

What is meant by HEYaaHd? What is
meant by 399t ? Give the difference
FAgEE  and  IUE with

4+4+7=15

between

examples.

FeREaNT IE0e [ @R e Goef ee
@ Goiel @ FepAEd W ey
TRIRReR, (7Y |

What do you understand by compound
(¥a19)? Write a critical note on

‘wma'gﬁa fag YrEre:” with illustration.
3+12=15
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d)

I oS gl 6 (@[le wnETEgiay 3fd
g yEEe: Efel 321 Srzaer e 59|

Discuss fully with example the sutra—
‘TfeafesrelfagaimmueeTas yomr'. 15
faufmefagaimmEEE yomr — 4l
TriegerTR ARV AT 39 |

Discuss the difference between vedic and

classical Sanskrit with examples. 15

@S 8 T AFred Ay SrRIE
DA F |

Mention the names of the language of
Dravidian language family. Show the
influence of non-aryan languages on
Sanskrit. 3+12=15

7ifde SRPE SRskE TN @1 THKFe
T €AY WS ST 2SI ETD 4 |
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